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JBRL [Fom —h— ZiREE K 4 g FE Z08%
1 3 8315 [ENFE Z0£E VIE Samian 2 2.34.93
2 5 8510 [EH = B ch 3 2.35.24
3 2 8316 |[{EAXK #BFE [7%X—5 2 2.35.28
4 1 8504 |KF F= ) F—rh 2 2.35.73
5 4 6162 |1k A BRI 3 2.36.89
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JBRL [Fom —h— ZiREE K 4 g FE Z08%
1 1 3309 [[EE BE KW 3 2.26.93
2 3 735 |&FIIl B ki 1 2.39.33
3 2 3315 iEE HhhA [EKWG 2 2.44.82
4 4 2940 [/MEGR FE  [MR5ls 2 3.04.78
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AL [Fon —h—MNZRBEE|K £ il PE Z08%
1 3 4412 |3 EAH H4t 1 2.24.92
2 10 2258 |FIR £E HX®EI 2 2.28.88
3 2 113 |If% ¥ =ED] 1 2.31.36
4 4 363 |AK st EEEi 1 2.33.54
5 5 2297 |AF BE A LRE 2 2.34.13
6 8 2218 |fEiE B B 3A] 3 2.34.80
7 6 2300 |Ei& EEF (AL 2 2.37.36
8 9 2256 |{EAR EZEFE |BXHEI 3 24374
9 7 8404 |[EH BE H4t 1 2.44.44
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1 4 5851 |[fhH KE EFE= 3 2.17.88
2 7 8309 [E1E EiE Bitsh 3 2.19.63
3 5 6136 |ABRK N |EBG 3 2.22.16
4 3 7031 |=#8 5 JIIAH 2 2.25.06
5 6 813 |BEmE & JIHR 2 2.50.29
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f£H B F800m 1 #8
JBRL [Fon —h—b| B RS K 4 g FE Z08%
1 4 1772 |#i8 X kD) 2 1.59.65
2 3 8308 |{FHik FmiE HARIZE 2 2.03.80
3 8 1812 |fEA [E HXEI 3 2.04.00
4 2 1878 ,ﬁ7k =] LU 3 2.06.11
5 7 1831 # ] {ERE Elkizlt 2 2.10.12
6 5 1153 ;€& X EZET 2 2.14.07
7 6 1151 |=% 3 EET 2 2.14.84
f£H B -F800m 2 #H
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1 1 1736 [HERK FA =Bz 3 2.06.17
2 2 2060 |5 & Bl & 3 2.13.04
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1 1 8086 |AILL 1R INSEN 6 2.46.44
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JERL [Fon —h—b| B RS K 4 g FE Z08%
1 1 8604 |ZEHk Ifdk ABN=/N 6 3.28.20
2 6 8509 | XK#1H HA& r“EwJ\ 5 3.37.80
3 7 8609 |#iF #2< TRE= 3 3.39.27
4 2 8303 |EF X% fﬁ@/J\ 6 3.54.97
5 8 8603 | TF T|X F=ITER 4 4.09.49
6 3 8601 '52? FE4£ AE]I— 2 4.38.95
7 4 8602 [¥ATF 1EX F=IR 2 44326
8 9 8611 [0 $EA s/ 2 45259
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2 8 8503 |JIIA Elkx VIE 3amian 2 5.17.85
3 12 8027 | XFHARE |LFHEERIET; 5.28.77
4 2 8606 [EH HE ABlll=5 2 5.33.39
5 7 8607 |[HpEk H3IF [HE)I=d 2 5.38.78
6 9 5870 [#%y E& IE= 2 5.41.93
7 6 8407 |Lki=%r B% |HM 1 5.41.94
8 11 2847 (B8 AHHLH o Eth 2 5.43.75
9 5 8302 |HiE AMEHE AW -d 2 5.44.24
10 3 8301 [FFE LIOHLLIZARWZdh 3 5.52.08
11 1 2299 [HH =E#Ht LU 2 6.03.15
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1 7 8605 |[&F F=E AEJll—d 3 5.02.82
2 1 4439 (2 FEFE kD) 1 5.03.93
3 10 8317 | KT H= VIE 3amian 2 5.05.49
4 2 8409 [E:E M H4t 1 5.06.48
5 3 2298 |5H EE LU 2 5.08.25
6 4 2233 |Ee IBY kD) 2 5.08.62
7 5 8510 |&5H % B ch 3 5.14.48
8 8 8505 [Bi ##hk [=FH 2 5.24.54
9 9 8405 |{EAR HY [H# 1 5.28.72
10 11 8408 |HFH e k3] 1 5.37.74
11 12 8406 |=E F= =ED] 1 5.55.05
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1 5 6460 [AHKED HA—Hh 3 450.49
2 2 3310 [18F BB KWkth 3 5.08.69
3 3 3311 |HiFE HEEE |KXWH 2 5.08.99
4 1 3308 [/ EBE KWk 3 5.11.39
5 4 3314 |¥aK IR KWk 2 5.19.89
6 7 446 | P 125 1 5.45.82
7 6 8612 |EX)IEE |FFHESF 3 5.53.69
fEH fh=EF 1500m 1 #8
JBRL [Fon —h—b| B RS K 4 g FE Z08%
1 9 8608 |AR#f K& ela 3 4.34.99
2 16 8311 [XK# #n Bt 3 442 64
3 1 7032 =ik EBX JII 3 4.42.75
4 6 512 |E®H I JIHE S 3 4.42 90
5 7 819 [ JIl &3} JIHE S 2 4.43.35
6 3 8313 [#nAK F0FR VIE 3amian 2 4.45.08
7 4 4858 |5 K E=rh 2 44846
8 15 6136 |ABRK N |EBG 3 4.50.42
9 10 8310 |#fK 1% Bt 3 45513
10 5 814 £k X2 JIHRH 2 45852
11 11 8318 |&fE &# ZiE_h 1 5.07.27
12 13 2509 |[{&ERE %4 ZiE_4 3 5.09.60
13 12 2781 |18 RiZ ZE_4 2 5.09.71
14 14 8078 |AILL Hiid XxH 2 5.12.83
15 8 813 |Ek B JIHR 2 5.48.32
16 2 8312 [HBX Fifd =&% 1 6.02.93
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JBRL [Fon —h—b| B RS K 4 g FE Z08%
1 2 6100 |{E#E wic EARE— 3 4.29.00
2 3 6102 |¥fH =+ EARE— 3 4.36.81
3 7 2903 ;B0 EEF il 3 44855
4 1 8610 |f8H KRER KWk 3 5.03.46
5 4 2936 |R¥E KFHF il 2 5.08.70
6 6 2948 |t1#l BLh¥ & il 2 5.15.09
7 5 2937 AR 4EX iRl g 2 5.31.87
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Eq=] BF¥ 1500m 1 48
JERL [Fon —h—b| B RS K 4 g FE Z08%
1 4 1769 |EAMER  |HF 2 410.92
2 3 1768 |/h#k ET3E H4t 2 41857
3 2 8308 |{Hik FmiE HXI=H 2 4.34.24
4 5 1230 [#80 #AEk BER 2 4.34.24
5 7 8402 [/MNEGR BEA |HM 1 435,62
6 8 1148 | B #XK BET 2 4.38.62
7 9 8400 |#E KA k3] 1 44357
8 11 8403 |{EARI #2 A+t 1 4.46.69
9 10 6213 |Faft FOth =ED] 1 450.78
10 13 1827 |FEER =l HXEI 2 450.83
fEH $EEF 3000m 1 #8
JERL [Fon —h—b| B RS K 4 g FE Z08%
1 12 2007 [#tH 5 il 3 9.23.10
2 9 511 [{EAR @2 |JIRS 3 9.53.83
3 5 8314 [f#H #E VIE s 3 9.54.90
4 6 8502 [=pk 2 NE— 3 9.55.55
5 4 8518 |#iH {£#& VIE Smias 2 10.08.45
6 10 2782 |REA 1% ZE_4 2 10.23.02
7 7 6147 ||t #E3t BRI 2 10.23.64
8 8 5866 |{kik FIE EE= 2 10.26.80
9 3 436 | HIZEEKER iEF 3 10.27.67
10 13 4393 |9 & ¥ 5dan 3 10.30.92
11 2 8300 [ —&k AR 3 10.55.22
12 1 7068 |J&¥F X JIIAH 2 10.58.11
13 14 499  [{EmEd st JEF| 3 11.04.19
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3 24 1832 [ KT X HXEI 2 15.46.86
4 4 1770 |#tH BiE A+t 2 15.49.12
5 7 1774 |[HE¥E HEX D] 2 15.50.52
6 6 1775 (B WA A+t 3 15.50.85
7 11 1767 | K# &Rth k3] 2 15.58.46
8 12 8401 |F1L RA =ED] 1 15.59.24
9 8 8412 |F:ZE #& H 4t 1 16.12.27
10 3 1765 rﬂ'*' BN kD) 2 16.18.67
11 1 1764 | EH Ht k3] 2 16.19.32
12 25 1829 |[RB#X HXEI 2 16.19.40
13 5 1766 |BH FHX H4t 2 16.24.91
14 26 323 |IAR HF NECNP 16.34.85
15 2 8410 |{EikE =i H4t 1 16.48.49
16 14 8306 [;Eik X1 HAXIZE 2 16.54.04
17 13 1145 AN 3R EEL 2 16.56.93
18 18 1794 @Il & BEEER 2 17.07.51
19 20 1793 B8 kK= BEEER 2 17.16.73
20 21 1791 |#BAR EESE EEER 2 17.46.13
21 17 8411 |#iK FEE EEH 1 17.47.78
22 19 ANEZAE S EIEIEER 2 17.55.69
23 22 1785 |#E#0 BHSA ,ﬁﬂ’e'iiﬁ 3 17.58.49
24 15 8305 |/MéR K HXI=F 3 18.02.02
25 16 1132 |BEi%k EEt EZET 3 18.45.51
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2 2 1771 |HHB EXR H4t 2 9.42.14
3 5 1958 | &R R =RapE] 2 10.08.56
4 15 8613 |¥741 EHsA =&BT1%5 10.23.09
5 6 1738 |=H EN =Bz 3 10.27.37
6 12 1816 |PIER EEA HXEI 3 10.30.46
7 4 1949 |#kH #¥® B A B 3 10.40.39
8 9 2150 (&t fn =k 2 10.43.17
9 13 1833 [fRARZE#H HXEI 2 10.55.65
10 14 2063 |EEE EER Bl & 2 11.12.26
11 10 1743 |85k & =Bz 2 11.18.21
12 3 1139 [{&%kf#E—H [fBET 3 11.21.51
13 8 1150 [#&#% BX EZET 2 11.28.58
14 11 1735 |BA #AER |&: 3 11.30.59
15 7 1880 [#IiB F£ A LRE 3 11.34.80




